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A) Grammatik

Prifungsdauer: 20 Minuten

Hilfsmittel: keine

Name: Vorname:
Kand.-Nummer: Klasse:

Méogliche Punkte

Erzielte Punkte

A) Grammatik

40

Nicht mit Bleistift schreiben!

EXaminNator/ EXAMINALIOIIN . ... e

EXPEre/EXPEITIN e e e aaaaa
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USE OF ENGLISH

TASK 1 20 POINTS

For questions 1-10, complete the second sentence so that it has a similar meaning to the first
sentence. You must use the word given in bold print. Do not change this word. Your answer must
consist of two to five words, including the word given.
1 A gardener cuts the lawn for him.

cut

He by a gardener.

2  Mary didn’t want to work overtime the following weekend.
feel

Mary overtime the following weekend.

3 The financial crisis will affect many countries.
will

Many countries the financial crisis.

4  I've never heard of such a silly idea before!
the

This | have ever heard of!

5 My grandma no longer finds it strange to send emails.
used

My grandma emails.

6  John last spoke to his girlfriend in May.
not

John his girl-friend since May.

7  Claire could not understand the instructions for her new phone.
sense

The instructions for Claire’s new phone her.

8 It's very unlikely that John saw his client yesterday.
can

John his client yesterday.

9 Despite the heavy traffic we were on time.
even

We were on time heavy traffic.

10 Oh, why don’t | have more time for my hobbies?!

only
If more time for my hobbies!
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TASK 2 10 POINTS

Read the following text and use the word given in capitals at the end of each line to form a word that
fits in the gap in the same line.

WAR ON HUNGER

Wealthy countries are spending billions every year on emergency food
programmes. Nevertheless, the number of hungry people is still on the increase.
Care International therefore want to reform the aid system

D . “We can no longer wait until the RADICAL

shortage of food reaches crisis proportions.” One problem is that donors fail to

fund preventive (2) adequately. ACT

In (3) , countries whose populations suffer ADD

extreme hunger are slow to (4) an DECLARATION
emergency and ask for (5) . In the ASSIST

Caribbean aid agencies warned last week of

(6) outbreaks of disease after the country SEVERITY

was hit by hurricanes. Haiti is struggling to cope with disaster and

@) . Aid workers are POOR

(8) to reach people who have escaped TRY

to (9) grounds. Many victims are having to HIGH

endure (10) conditions. HORROR
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TASK 3 10 POINTS

Read the text and fill the gaps with one suitable word.

EINSTEIN’S LETTERS

Some of Einstein’s letters are now being sold at record price in London. They offer a great insight into

Einstein’s thoughts on world affairs. His interests ranged (1) science to

politics and religion. In his advice to people who wrote to him on (2) matters

he tried to remain diplomatic. He always made a big effort to respond to as

3) letters as he could. He even wrote back to children. In the late1940s

Einstein replied to a correspondent’s idea who had proposed a world government in order

4) enforce peace. Einstein felt that there might be advantages in taking

(5) in a world government. Particularly bearing Russia in mind, Einstein
hoped that the Soviet Government (6) soon see that nothing could be
achieved by aggression. His views on (7) to understand his theory of
relativity were quite clear. To people (8) thought it too difficult to understand
he answered that this was due (9) their spending too little time studying it.

His theory, Einstein was convinced, was quite easy to grasp. As far (10)

religious beliefs were concerned, Einstein was quite clear: Religious beliefs were the product of

human weaknesses and nothing else.
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